T8 CBSE fgér 9w Yot
TR=T1 31) =i g a1 378 @l 3R TEr 318R 9T el dA131. — 5 marks

§) ¢@r 3R ford@r- 5 marks

gesT 237) [T ugareet gger gur faf@. — 5 marks

§) T q@aR HEr &R W Il FeIr3 — 5 marks

g 337) A ¥ ¥ AT Fr 1 9y -5 AFY

q) A GF I HeRW A W1 #IA. -5 marks

e 4 37) T c@aR AEr Aer aur A SEr Hem3i.- 3 marks

) SSHAT SIEMm3A. — 7 marks

uReT 5 37) 3 arel AR A LT A — 5 marks

§) gATT a5 ST S9msar. -5 marks

URaT 6 31) 3 &R & YT g0V arel T TR aver ofam3i. -3 marks

9) TR P Tl HA § AT g7 T [ A - 7 marks



